

SOKA IKEDA COLLEGE OF ARTS AND SCIENCE FOR WOMEN (Affiliated to the University of Madras) Chennai 600 099, Tamilnadu.

2022-2023

	BOOKS PUBLISHED 2022											
S.No	Name of the Teacher	Title of the Book / Chapters Published	Calendar Year of Publicatio n	ISBN/ISSN number of the proceeding	Affiliating Institute at the time of Publication	Name of the Publisher	Link					
1	Dr. Meera Murugesan	Text book of Molecular Biology	2022	ISBN:978- 93-93187- 25-3	Soka Ikeda College of Arts and Science for Women	New India Publishing House	View					
2	Ms. D. Subhashini	Text book of Molecular Biology	2022	ISBN:978- 93-93187- 25-3	Soka Ikeda College of Arts and Science for Women	New India Publishing House						
3	Dr. R. Sandhya Lakshmi	Women's Writing	2022	ISBN:978- 93-91064- 59-4	Soka Ikeda College of Arts and Science for Women	Mahaveer Publications						

4	Dr. S. Mary Sujatha		Principles and Practices of Auditing CHAPTERS PUBL		2022 LISHED	ISBN: 978- 81-958752- 9-0 - 2022		da College nd Science en	Wisdom India Publications
5	Ms. S. Sivakalai		Role of Wo	men in Sports	2022	ISBN:978- 93-5593- 750-6		da College nd Science en	Department of Human Resource Managemen t, Dr. M.G.R Educational and Research Institute
			PAPE	RS PUBLI	ISHED – 2	2019			
S.No	Name of the Teacher	Title of the Paper	Title of the Proceedin gs of the Conferen ce	Name of the Conference	Calendar Year of Publicatio n	National/ Internation al	ISBN/ ISSN numbe r of the procee ding	Affiliating Institute at the time of Publicatio n	Name of the Publisher
6	Dr. D. Rani Elizabeth	Elizabeth Paarvaiyil on T Pengal Navi		Internation Naveena		International Conference	ISBN:9 78-81- 907904- 2-0	Soka Ikeda College of Arts and Science for Women	Nila Suriyan Pathippagam

										
7	Dr. D. Rani Elizabeth	Pen Padaippal argalin Padaipuga lil Samuga Panpattu Manidavi yal Padhivug al	Thamizh Marapil Pen Padaippalar kalum Pen Eluttum	Pannatu Karuththaran ga Katuraigalin Thoguppu (International Conference Research Articles Volume)	2022	International Conference	ISBN:9 78-93- 941-87- 21-4	Soka Ikeda College of Arts and Science for Women	Parithi Pathippagam	
8	Dr. T.V. Chandrika	Nattuppur a Padalkalil Thalattu Patalgalin Sirappuga l	Tamizhaka Nattupura Kalai Ilakkiya Marabukali n Neetchi	Tamizhaka Nattupura Kalai Ilakkiya Marabugalin Neetchi	2022	International Conference	ISSN:23 94-2428	Soka Ikeda College of Arts and Science for Women	Kavingyar Munaivar Alandur K. Mohanarang an Tamiliyal Aayvu Maiyam	
9	Dr. C. Bharathi	Kaaydil Vizhu Selvam	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
10	Dr. G. Daisy Maria Packiam	Maattratht hai Uruvakku m Sakthi Pen Kalvi	Internation al Conference on Women Emancipati on & Global	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	

			career opportuniti es through higher education						
11	Dr. AR. Abirami	Naaladiya r Koorum Natpu	Panmukap Paarvaiyil Tamil Ilakkiyanga l	Pathavathu Panpattu Karutaranga m - Panmuga Parvayil Tamil Ilakkiyangal	2022	International Conference	ISBN: 978-93- 85508- 13-4	Soka Ikeda College of Arts and Science for Women	Department of Tamil, Srimath Sivagana balaya Swamigal Tamil, Arts and Science College, Mayilam.
12	Ms. P. Parameswari	Nattupura Paadalkali l Yesal Padalkali n Sirappuga l	Tamizhaka Nattupura Kalai Ilakkiya Marabukali n Neetchi	Tamizhaka Nattupura Kalai Ilakkiya Marabugalin Neetchi	2022	International Conference	ISSN :2394- 2428	Soka Ikeda College of Arts and Science for Women	Kavingyar Munaivar Alandur K. Mohanarang an Tamiliyal Aayvu Maiyam
13	Ms. A. Steffie craf	Oru Vaarththa i - Oru (Pennin) Vaazhkka i	Internation al Conference Tamil Navina Ilakkiyanga lil Pengal	Tamil Navina Ilakkiyangali I Pengal – Vol -I	2022	International Conference	ISBN: 978-81- 907904- 2-0	Soka Ikeda College of Arts and Science for Women	Nila Suriyan Pathippagam
14	Dr. R. Sandhya Lakshmi	Emancipa tion through Education - A Review of Indian Scenario	Internation al Conference on Women Emancipati on & Global career	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications

			opportuniti es through higher education							
15	Dr. R. Sandhya Lakshmi	Post Post - Colonial Dystopia in Manjula Padmanab han's Harvest	Langlit	Emerging Ideologies and Trends in English Language, Literature and Cultural Studies	2022	International Conference	ISSN 2349- 5189	Soka Ikeda College of Arts and Science for Women	Snehal Mothe's Langlit and Research Center Maharashtra, India	
16	Ms. R. Suganthi	Emancipa tion through Education - A review of Indian Scenario	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN :978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
17	Ms. D. Deepa	Insights of Danger and Passion in Bama's Half-Sari	Langlit	Emerging Ideologies and Trends in English Language, Literature and Cultural Studies	2022	International Conference	ISSN 2349- 5189	Soka Ikeda College of Arts and Science for Women	Snehal Mothe's Langlit and Research Center Maharashtra, India	

18	Ms. K. Kanthimathi	Sexual harassme nt - A Hindrance to Women's Emancipa tion	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN :978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
19	Ms. B. Hemavathy	Marginali zation of the character Ammu in Arundhati Roy's The God of Small Things	Langlit	Emerging Ideologies and Trends in English Language, Literature and Cultural Studies	2022	International Conference	ISSN 2349- 5189	Soka Ikeda College of Arts and Science for Women	Snehal Mothe's Langlit and Research Center Maharashtra, India	
20	Ms. P. Kaviprabha	Sexual harassme nt - A Hindrance to Women's Emancipa tion	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	

21	Ms. E. Jijitha Mary	Psycholog ical Legacy of Slavery in Tony Morrison' s 'Beloved'	Langlit	Emerging Ideologies and Trends in English Language, Literature and Cultural Studies	2022	International Conference	ISSN 2349- 5189	Soka Ikeda College of Arts and Science for Women	Snehal Mothe's Langlit and Research Center Maharashtra, India	
22	Ms. Jerry Elkha K	The Process of becoming in Vikas Swarup's Novel the Accidenta 1 Apprentic e	Langlit	Emerging Ideologies and Trends in English Language, Literature and Cultural Studies	2022	International Conference	ISSN 2349- 5189	Soka Ikeda College of Arts and Science for Women	Snehal Mothe's Langlit and Research Center Maharashtra, India	
23	Ms. D. Subhashini	Heading Up to Feminism through Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	

24	Dr.S.Sarada	Vedic Women: An Epitome of Woman Empower ment	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
25	Ms. N.S. Kiruthika	Women's Emancipa tion via a Weapon Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
26	Ms. S. Gunachithra	Milestone s and Pioneers in Women Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	

			higher education						
27	Ms. M. Ramya Devi	Milestone s and Pioneers in Women Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication
28	Ms. P. Dhanalakshmi	Women's Emancipa tion is a Myth or a Reality	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication
29	Ms. J. Jacklin Dayana	Women Emancipa tion and Global career opportunit ies through Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication

			es through higher education						
30	Ms. J. Chella Manorathi	Women Emancipa tion and global career opportunit ies through Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication
31	Ms. R. Anitha	Empoweri ng Women in the field of Mathemat ics	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication
32	Ms. E. Praveena	Women's Emancipa tion in various fields through Higher Education	Internation al Conference on Women Emancipati on & Global	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication

			career opportuniti es through higher education							
33	Ms. T. Sophia Beatrice	Women's Higher Education and Career Opportuni ties in various phases of developm ent	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
34	Ms. R. Puspalatha	Women's Emancipa tion in various fields through Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	

35	Ms. R. Narmadha Devi	Women's Higher Education and Career Opportuni ties in various phases of developm ent	Internation al Conference on Women Emancipati on and Global career opportuniti es Through higher Education	Women Emancipatio n and Global career opportunities Through higher Education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
36	Ms. R. Sathya	Empoweri ng Women in the field of Mathemat ics	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
37	Ms. S. Anitha	Women's Emancipa tion is a Myth or a Reality	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	

			education							
38	Ms. M Vijaya Sumathi	Higher Education and Women Empower ment	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
39	Ms. M. Kavitha	Higher Education and Women Empower ment	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	
40	Ms. P. Kalpana	Women Emancipa tion - Are you really free?	Internation al Conference on Women Emancipati on & Global career opportuniti es through	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publication	

			higher education							
41	Ms. V. Nagavalli	A Conceptu al Study on Acquiring Human Resources	Internation al Conference on Sustainable and Innovative Business Practices	International Conference on Sustainable and Innovative Business Practices	2022	International Conference	ISBN: 978-93- 5593- 713-1	Soka Ikeda College of Arts and Science for Women	Lexicon Management Institute of Leadership and Excellence	
42	Ms. V. Nagavalli	Women in Higher Education : An Empirical Study among College Students in Soka Ikeda College for Women	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
43	Ms. V. Nagavalli	Digital marketing - A Scenario in Current Era	First One Day Multi- Disciplinar y Internation al Conference on Artificial Intelligence in E- Commerce	1st One Day Multi- Disciplinary International Conference on Artificial Intelligence in E- Commerce	2022	International Conference	ISBN: 978-93- 91-977- 04-7	Soka Ikeda College of Arts and Science for Women	R.B.Gothi Jain College for Women	

44	Dr. S. Mary Sujatha	Women Emancipa tion - Are you really free?	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
45	Dr. N. Unnamalai Sangeetha	Mapping Education and Employm ent at Globe - CSR Initiatives towards Stem and Vocationa 1 Education in India	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
46	Dr. M. Raja Rajeswari	Mapping Education and Employm ent at Globe - CSR Initiatives towards Stem and Vocationa 1 Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

		in India	education							
47	Ms. T. Jeeva	Mapping Education and Employm ent at Globe - CSR Initiatives towards Stem and Vocationa 1 Education in India	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
48	Dr. PL. Alamelu	Higher Education as a key for advancem ent of women through ages	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
49	Ms. S. Ushadevi	A study on the socio psycholog ical factors that influence Women's Career Developm ent	Internation al Conference on Women Emancipati on & Global career opportuniti es through	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

			1 • •				r	I		
			higher education							
50	Dr. V. Premalatha	Higher Education as a key for advancem ent of women through ages	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
51	Dr. R. Krishnaveni	A study on customer preferenc es towards coupon code promotion al activities in digital marketing	First One Day Multi- Disciplinar y Internation al Conference on Artificial Intelligence in E- Commerce	1st One Day Multi- Disciplinary International Conference on Artificial Intelligence in E- Commerce	2022	International Conference	ISBN: 978-93- 91-977- 04-7	Soka Ikeda College of Arts and Science for Women	R.B.Gothi Jain College for Women	
52	Dr. R. Krishnaveni	Empoweri ng women through higher education - Together we can bring change	Internation al Conference on Women Emancipati on & Global career opportuniti es through	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

			higher education							
53	Ms. S. Shobana	Empoweri ng women through higher education - Together we can bring change	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
54	Ms.T. Tamilarasi	Internet of things: challenge s and future scope	First One Day Multi- Disciplinar y Internation al Conference on Artificial Intelligence in E- Commerce	1st One Day Multi- Disciplinary International Conference on Artificial Intelligence in E- Commerce	2022	International Conference	ISBN: 978-93- 91-977- 04-7	Soka Ikeda College of Arts and Science for Women	R.B.Gothi Jain College for Women	
55	Ms.Mutyala Sridurga	Revolutio nary effect of internet of things (IOT) in E- commerce logistics Industry	First One Day Multi- Disciplinar y Internation al Conference on Artificial Intelligence in E- Commerce	1st One Day Multi- Disciplinary International Conference on Artificial Intelligence in E- Commerce	2022	International Conference	ISBN: 978-93- 91-977- 04-7	Soka Ikeda College of Arts and Science for Women	R.B.Gothi Jain College for Women	

56	Ms. M. Grace	Emancipa tion and Global Career Opportuni ties in psycholog y	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
57	Ms. G. Vijayagirija	Challenge s and issues faced by working Womens in India	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
58	Ms. K. Nirmaladevi	Women Emancipa tion and Global Career Opportuni ties through Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

			education							
59	Ms. J. Parvathy	Women Emancipa tion and Global Career Opportuni ties through Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
60	Ms.S. Joseph Bency Prisca	A study on Impact of Women Higher Education and the career opportunit ies in Software sector in Chennai city	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
61	Ms. D. Sasikala	A study on Impact of Public bus transport in Women Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

			higher education						
62	Ms. B. Deepa	A study on Impact of Women Higher Education and the career opportunit ies in Software sector in Chennai city	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications
63	Dr. R. Bhavani	A study on Impact of Women Higher Education and the career opportunit ies in Software sector in Chennai city	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications
64	Dr. M. Abila Marselin	Women Empower ment through Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications

			es through higher education							
65	Dr.V. Padmavathy	Enfranchi sement and Allegatio ns of Women Physicist in career resources and outcomes	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
66	Ms. A. Vaishnavi	Higher Education in Tourism and Travel Industry	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
67	Dr. Lydia Eric	Emancipa tion and Global Career Opportuni ties in Psycholog y	Internation al Conference on Women Emancipati on & Global career	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

		r	r	1			1	r	r	
			opportuniti es through higher education							
68	Dr. V.Revathi	Women Accreditat ion on extracurri cular activities and Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
69	Ms. R. V. Lakshmi Priyaa	Women Education impact during pandemic period: A survey	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
70	Ms. M. Bhuvaneswari	A study on Women Empower ment through Higher Education	Internation al Conference on Women Emancipati on & Global	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

		in India	career opportuniti es through higher education							
71	Ms. J. Jabamalai Priya	A study on Women Empower ment through Higher Education in India	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
72	Ms. S. Sivakalai	The role of financial institution s in driving women's Economic empower ment in India	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

73	Ms. S.T Immaculate Lowara.	Women Empower ment in India: Role of Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
74	Ms. J. Vimal Rosy	Role of ICT in Women Empower ment	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
75	Ms. J. Vimal Rosy	Machine Learning Algorithm ANNRFC using UNSW for Intrusion Detection System	VISTAS Internation al Conference on Computing and Mathematic s VICCM 2022	VISTAS International Conference on Computing and Mathematics VICCM 2022	2022	International Conference	ISBN: 978-81- 95487- 41-7	Soka Ikeda College of Arts and Science for Women	Sams Publishers	

76	Ms. J. Vimal Rosy	Machine Learning Using UPRE for Cloud Environm ent	Internation al e- Conference on Recent Trends and Technologi es in Soft Computing (ICRTSC'2 2)	Two Days International e-conference on Recent Trends and Technologies in Soft Computing (ICRTSC'22)	2022	International Conference	ISBN: 978-81- 956262- 9-8	Soka Ikeda College of Arts and Science for Women	Department of Computer Science and Applications, St. Peter's Institute of Higher Education and Research	
77	Ms. J. Vimal Rosy	A Survey and Analysis on Multi- Level Authentic ation Techniqu es for Cloud Services	Internation al Conference on Interdiscipl inary Research on Innovations in Science and Technology (ICIRIST - 2022)	International Conference on Interdisciplin ary Research on Innovations in Science and Technology (ICIRIST - 2022)	2022	International Conference	ISBN: 978-93- 91347- 02-4	Soka Ikeda College of Arts and Science for Women	Coimbatore Institute of Information Technology	
78	Ms. P. Hemalatha	Role of ICT in Women Empower ment	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

79	Ms. C. Rajeswari	Significan t role of Women in Research of Computer Science	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
80	Dr. C. Thavamani	Significan t role of Women in Research of Computer Science	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
81	Dr. A. Vinnarasi	Women in Research and Developm ent: An overview of Career Challenge s toward gender equality in India	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

			education							
82	LT. K. Amudhavalli	Women Accreditat ion on extracurri cular activities and Higher Education	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
83	Ms. Dhanalakshmi Rajendran	Periyar's radical thoughts on Women's Rights and Freedom – A strong Ideologic al base for Women's Emancipa tion	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	
84	Dr. T.K. Karpagam	Growth of Legal studies and Developm ent of Women career in law at Global level	Internation al Conference on Women Emancipati on & Global career opportuniti es	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications	

			through higher education						
85	Dr. S. Mahadevi	History of Women Education in India	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications
86	Dr. M. Suganya	Women in Research and Developm ent: An overview of Career Challenge s toward gender equality in India	Internation al Conference on Women Emancipati on & Global career opportuniti es through higher education	Women Emancipatio n & Global career opportunities through higher education	2022	International Conference	ISBN: 978-93- 91286- 06-4	Soka Ikeda College of Arts and Science for Women	Mayas Publications

87	Ms. C. Rajeswari	Compariti ve analysis of THT, IFT and LMV Techniqu e in Image Processin g	Internation al Conference on Interdiscipl inary Research on Innovations in Science and Technology (ICIRIST - 2022)	International Conference on Interdisciplin ary Research on Innovations in Science and Technology (ICIRIST - 2022)	2022	International Conference	ISBN: 978-93- 91347- 02-4	Soka Ikeda College of Arts and Science for Women	Coimbatore Institute of Information Technology	
88	Ms.C. Thavamani	Mining video Sequence s for the efficient prediction of user Behaviour	VISTAS Internation al Conference on Computing and Mathematic s VICCM 2022	VISTAS International Conference on Computing and Mathematics VICCM 2022	2022	International Conference	ISBN: 978-81- 954874- 1-7	Soka Ikeda College of Arts and Science for Women	Sams Publishers	
89	Ms. P. Hemalatha	A Comprehe nsive Survey on Big Data Analytics: Challenge s, Open Research Issues and Tools	Internation al Conference on Interdiscipl inary Research on Innovations in Science and Technology (ICIRIST - 2022)	International Conference on Interdisciplin ary Research on Innovations in Science and Technology (ICIRIST - 2022)	2022	International Conference	ISBN: 978-93- 91347- 02-4	Soka Ikeda College of Arts and Science for Women	Coimbatore Institute of Information Technology	

90	Dr.C.Thavamani	Mining Video Sequence s to generate more Interestin g and Efficient Patterns using Two level Clustering Approach es	Internation al Conference on Interdiscipl inary Research on Innovations in Science and Technology (ICIRIST - 2022)	International Conference on Interdisciplin ary Research on Innovations in Science and Technology (ICIRIST - 2022)	2022	International Conference	ISBN: 978-93- 91347- 02-4	Soka Ikeda College of Arts and Science for Women	Coimbatore Institute of Information Technology	
----	----------------	---	---	--	------	-----------------------------	------------------------------------	--	---	--

